Math 19, Winter 2006

PreCalc Worksheet

January 12, 2006

PRECALC WORKSHEET

Let f(z) = 2%, g(x) = sin(7z), h(x)

Evaluate
. f3)
o h(1)
o k(1)
. (fok)®)
o (hog)()
. f(4)
o h~1(3)
Solve:
o h(z) =2
e g(x)=0
o k(z) =14
. (lg@)* + cos*(ma) )2z + 1 N

20— 2

e x2—z—-1=0

Factor:

2 ,x

e x°e o

— €

T or—1

, and k(x) = logy(x).
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Simplify:

T
2 3
20 —1 T

y 2 3
222 (2 — 1)

2¢(x —1)
. (v + h)? — 22
h

(x4 h)3 — a3
o T T
h

Find the slope between:

e (3,2) and (7,12)

o (1,1) and (4,4)

e (0,—4) and (—1,12)
e (—10,5) and (3,0)

e (2,0) and (3,0)
Find the equation for the line:

e with slope % and y-intercept 2
e with slope —% and passing through (4, 3)

e passing through (3,2) and (7,12)
Graph:

o f(z) = logy(x)
o f(x)=5x+2
o flz)=(z—1)%+2

o sin(2x)
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